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Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.
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BIOLOGY SSC-I

SECTION - A (Marks 12)

Time allowed: 15 Minutes

Fill the relevant bubble against each'question:
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Being a biological research worker,
you are studying ‘Brassica
campestnis’; which branch of biology

it will be? (O Zoology (O Botany Parasitology () Palaeontology
Ste st VR G TS ot s SR s g4 RELe 85k,
(§nbrasuf S8 974
The tentative statement that may
prove to be the answer of a scientific i ,
problem: . O Law O Theory D‘eductlon O HyE)OtheSlS
e 0 et 2 45 U SRl O oI5 S F 4 et
Unicellular,
Chlorophyl! _ cplonial or
All of these are characteristics of Multi cellutar in Cellulose in simple
algae except: (O sexorgans () chloroplast cell wall (O multicellular
2y paker® SSI0 SRS ¥ I WA AL,
Sk s
The network of channels that extends .
from plasma membrane to nuclear ' Endo Plasmic
envelop is: O Mitochondria O Golgi Bodies Plastids O Reticulum
bUIY e VUt bd Fof ity e b 5 WIEN dt S Al anLogsl
s
When an animal cell is placed in Cell will Cell will
hypotonic  solution what would become become Cell may C;el.l r‘?ay
happen? rigid turgid rupture O shrin
W32 LW ATy LA S Ede LIz O Ce st )X O Vi bl s C‘—CC-‘",’J: %CC%‘)“/
Identify the phase during which sister
chromatids of each chromosome are
separated? O Prophase. O Metaphase Anaphase O 'Ijel.ophase
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Hydrolysis of starch occurs with the
help of: Amylase O Cellulose Lipase O Lactase
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If plants lose their Mesophyll Tissues,
which gas will increase in the

atmosphere?
8. . 0) CO. co H
oA sl LRI pF B Pty )i ! : 2
. iy
Choose the correct pair for deficiency Vitamin A - Vitamin 8 ~ Vitamin C - Vitamin D —
9 of vitamin and disease: Ricket Ostomalacia Scurvy Night blindness
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Conversion of simple absorbed food
into complex compounds that become
10 part of body is called: . Digestion Assimilation Ingestion Absorption
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If blood is not supplied to the arms of
a person, which arteries will be
1 defective? Coronary Mesenteric Hepatic Sub clavian
Py p Al it S Sussuin L A i SE L e
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' Have vlaves
Thick to prevent Carry blood
All of these are characteristics of veins muscular backward from body Low blood
12. except: layer flow of blood parts to heart pressure
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BIOLOGY SSC-I

Time allowed: 2:45 Hours | Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questlons from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. All parts carry equal marks. (11 x3=33)
(i) Differentiate between oxidation and reduction.
(i) - Protein and amino acids belong to which type of biomolecules? Compare this type of biomolecules and

give two examples of each.
(i) . Describe blood disorder ‘thalassemia’.
(iv) Differentiate between fats and oils. Also write sources of lipids.
(V) Write causes and effects of deforestation.
{vi) Describe structure and function of Ribosome.
(vii) Describe structure of a nerve cell with the help of labelled diagram.
(viiy  Describe three phases of inter phase.
(ix) What is apoptosis? Descnbe its process with two examples.
(x) . Describe the effect of pH on the rate of enzyme action with the help of suitable graph.
(xi) Emil Fischer proposed a model of enzyme action. Write name of the model and describe it with the

help of diagram.
(xii) Describe observations collected durlng study of malaria.
< (xiil)  Which environmental hazards.are caused by the use of fertilizers?

(xiv)  Transpiration is a necessary evil. Discuss it.
(xv)  Why blood group ‘O’ is called universal donor and blood group ‘AB’ universal recipient?

SECTION = C (Marks 20) -

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a Heart acts as a double pump for circulation of blood:-discuss it. Also draw flow chart for double
pump of blood circulation.
b. Which type of cellular organelles are responSIble for photosynthesis. Describe it with the help of

labelled diagram.
Describe structure and function of stomach with the help of labelled diagram.

Q.4 a
b. Discuss characteristics of Kingdom fungi and Monera.
Q.5 a Describe events of light reactions. -
' b. Describe brophase-l with the help of diagram.
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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.

BIOLOGY SSC-I

SECTION —~ A (Marks 12)
Time allowed: 15 Minutes

Fill the relevant bubble against each question:

Answer Sheet No.

Sign. of Candidate

Sign. of Invigilator
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Being a biological research worker,
you are studying ‘Markhor’; which

1 branch of biology it will be? O Botany O Zoology Palaeontology O Parasitology
s S KB LT 4 ab LS o LGSR G ‘ G Gi, SIF s
nbras 9SSttt [
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The logical consequences of the .
hypothesis are: Law Theory Deduction Observations
2. -t Y - Ky
°¢A-Hl:'@f,.€?f)gﬁlfk O U O g (f(:kJ‘ O elqle
Absorptive Cell wall is
All of these are characteristics of mode of Multi cellular Mostly made of
Fungi except: ‘ O nutrition O Eukaryotes decomposers O Cellulose
Ll SPLSE §oS VeI il ke sdSom Jink Sngdosdk
L Ak ‘
Single membrane bounded
organelles having strong digestive Chromosom-
enzymes/are: O Lysosomes O es Nucleosomes O Ribosomes
L i P A y_-’:"’:l’z_n%u:q/ N s N e/ rrify Y2
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Cell Cell
When an animal cell is placed in hyper becomes becomes Cell will Cell may
tonic solution, what would happen? O rigid O turgid shrink O rupture
e b I Wt RS Lodefica PESES 4Y 4 P91 AN e Fegk
If a plant cell lost its golgi apparatus, Chromosome
its process will be affected. Karyokinesis Cytokinesis Crossing over Replication
. 1 x O o O y./ O A
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Wn
Which graph shows, how temperature
affects the rate of an enzyme
controlled reaction?
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?lé,c'nil}’/;léca/lig/)/_:cj:gl 0 Temp. 400 0 Temp. 4o 0 Temp. 4qe 0 Temp. 4p0
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If you have an ADP, inorganic
phosphate and 10 kcal energy. You
want to make an ATP. How much

g, Snergywill be surplus? 2.7 keal 3.7 keal 7.2 keal 7.3 keal
" B0 kealsl b LT IADPLIUL LTS O 27kea -fxea < Kea = Kea
dur st £ T8 57 Ut 2 lATP L T e
?Jﬁ
Vitamin C -
Choose the correct pair for deficiency Vitamin A~ Night Vitamin D — Vitamin B -
9 of vitamin and disease: O Scurvy blindness Ricket Ostomalacia
’LZ/ v?’l(@fﬁy/}&d/k‘;uk{ St ) (5:/¢ - Al bl el 5t S r?.!".f‘-“:’-(}d” ts
When we eat liver of cow or goat,
10 which food component we will obtain? O Starch Cellulose Sucrose Glycogen
wnde LS Pl ESsF et it Wk Iy EITs
s /S
Renal artery of a person is damaged
during an accident, which organ will
11 be more effected? O Kidney Liver Heart Stomach
Vuf;JﬂéUd/‘ﬁJ‘/Ju";vgulwLL;UVQ u/( ; Jr 0.4
‘-‘b’n/"'(?u[,_}drjl'
12 Alf of these are leucocytes except: O Monocytes Neutrophils Basophils Thrombocytes
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BIOLOGY SSC-I

Time allowed: 2:45 Hours Total Marks Sections B and C: 53
NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

Q.4
Q.5

SECTION — B (Marks 33)
Attempt any ELEVEN parts. All parts carry equal marks. (11x3=233)

() What is limiting factor? Describe light intensity as limiting factor in photosynthesis.
(ii) What are biophysics, biochemistry and biogeography?
(iii) How did A.F.A King observe that mosquito is involved in the spread of malaria?
(iv) What is pericardial fluid? Describe its function.
(v) Describe carbohydrates as a major component of food.
(vi) Describe aims of classification.
(vii) Draw labelled diagram of mitochondrion.
(viii)  Differentiate between prokaryotic and eukaryotic cell.
(ix) Describe two diseases caused by protein energy malnutrition (PEM).
(x) How do enzymes reduce activation energy? |
(xi) Describe effect of substrate’concentration on the rate of enzyme action with the help of suitable graph.
(xii) Write down names of two macronutrients and describe their role and deficiency symptoms in plants.
(xiii)  What would happened if pancreatic juice did not reach to your small intestine?
(xiv)  Differentiate between following:

| a. Systole and Diastole

b. Tricuspid and Bicuspid valves

(xv) How do guard cells control opening and closing of stomata? Describe it by starch sugar hypothesis.

SECTION ~ C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
a. Discuss translocation of food in plants with the help of diagram.
b. Describe structure and function of nucleus with the help of fabelled diagram.

What is Karyokinesis? Discuss phases of Karyokinesis of mitosis with the help of labelled diagram.

a. Discuss main phases of aerobic respiration.
b. What is Binomial nomenclature? Describe its rules and importance.
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